### Individual Meet Results - Standard: 1718TS

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M

Time	F/P/	S	Event	Place	Points	Improv
Zavier Allan	(10) M	Ī				
1:26.73S		# 32A	Male 10-10 100 Free	13		-3.70
1:41.86S	F	# 42A	Male 10-10 100 IM	8	1	2.40
52.02S	F	# 47A	Male 10-10 50 Breast	9		-0.91
1:39.75S	F	# 52A	Male 10-10 100 Back	12		-1.59
1:48.31S	F	# 85A	Male 10-10 100 Breast	6	3	-3.99
41.49S	F	# 95A	Male 10-10 50 Free	22		1.44
46.82S	F	# 105A	Male 10-10 50 Back	14		2.13
Deon Badenh	orst (10	) M				
1:20.53S	F	•	Male 10-10 100 Free	9		2.58
1:34.65S	F	# 42A	Male 10-10 100 IM	5	4	0.93
53.51S	F	# 47A	Male 10-10 50 Breast	13		0.85
1:37.40S DO	Q F	# 52A	Male 10-10 100 Back			
1:53.77S	F	# 85A	Male 10-10 100 Breast	11		4.52
3:27.43S	F	# 90A	Male 10-10 200 IM	8	1	9.01
36.19S	F	# 95A	Male 10-10 50 Free	8	1	0.91
3:00.41S	F	# 216A	Male 10-10 200 Free	9		9.88
Eloise Bernha	rdt (8)	F				
33.39\$	F	# 1	Female 8-8 25 Breast	9		-3.56
1:57.80S	F	# 5	Female 8-8 100 Free	13		-8.01
1:07.07S	F	# 21	Female 8-8 50 Breast	12		
1:59.95S	F	# 25	Female 8-8 100 Back	7	2	-9.86
2:27.87S	F	# 56	Female 8-8 100 Breast	15		
25.54S	F	# 68	Female 8-8 25 Fly	5	4	
50.96S	F	# 72	Female 8-8 50 Free	20		-3.72
52.02S	F	# 78	Female 8-8 50 Back	9		-1.60
Kaiden Burns	(10)	M				
1:32.53\$	F		Male 10-10 100 Free	20		-3.59
1:51.478	F	# 42A	Male 10-10 100 IM	12		-3.84
59.02S	F	# 47A	Male 10-10 50 Breast	26		0.13
1:49.73\$	F	# 52A	Male 10-10 100 Back	18		2.09
2:02.67\$	F	# 85A	Male 10-10 100 Breast	14		-10.29
4:00.08S	F	# 90A	Male 10-10 200 IM	18		
43.18S	F	# 95A	Male 10-10 50 Free	24		-1.22
51.98S	F	# 105A	Male 10-10 50 Back	23		0.86

### Individual Meet Results - Standard: 1718TS

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M

Time	F/P/	S		Eve	ent	Place	Points	Improv
<b>Kassie Burton</b>	(8) F	7						
37.31S DQ		#	1	Femal	e 8-8 25 Breast			
2:14.93\$	F	#	5	Femal	e 8-8 100 Free	28		-1.08
1:22.24S DQ	F	#	21	Femal	e 8-8 50 Breast			
2:16.85S	F	#	25	Femal	e 8-8 100 Back	22		7.04
2:48.89S DQ	F	#	56	Femal	e 8-8 100 Breast			
23.86S	F	#	60	Femal	e 8-8 25 Free	12		-2.57
58.67S	F	#	72	Femal	e 8-8 50 Free	35		-1.92
1:02.55S	F	#	78	Femal	e 8-8 50 Back	35		0.02
Slade Diakiw	(8) M							
1:46.88S		#	6	Male	8-8 100 Free	6	3	-2.53
2:03.88S	F	#	14	Male	8-8 100 IM	2	7	
1:01.88S	F	#	22	Male	8-8 50 Breast	2	7	-0.79
2:12.73S	F	#	57	Male	8-8 100 Breast	3	6	-6.62
20.73S	F	#	61	Male	8-8 25 Free	2	7	-4.73
29.09S	F	#	69	Male	8-8 25 Fly	5	4	
51.03S	F	#	73	Male	8-8 50 Free	6	3	0.97
59.44S	F	#	79	Male	8-8 50 Back	13		7.16
Declan Harriso	n (8)	M						
50.26S DQ	F	#	2	Male	8-8 25 Breast			
2:08.57\$	F	#	6	Male	8-8 100 Free	11		-11.74
28.83S	F	#	18	Male	8-8 25 Back	10		2.09
2:19.30S DQ	F	#	26	Male	8-8 100 Back			
1:03.22S	F	#	73	Male	8-8 50 Free	22		1.37
1:07.25S	F	#	79	Male	8-8 50 Back	24		5.97
Maxwell Harris	on (1:	1)	M					
1:19.498		#	32B	Male	11-11 100 Free	13		-3.54
44.22S DQ	F	#	37B	Male	11-11 50 Fly			
1:34.58S	F	#	42B	Male	11-11 100 IM	8	1	
1:29.65S P	F	#	52B	Male	11-11 100 Back	9		3.07
1:44.84S P	F	#	85B	Male	11-11 100 Breast	10		-5.23
3:24.27S	F	#	90B	Male	11-11 200 IM	14		-4.99
36.72S	F	#	95B	Male	11-11 50 Free	21		-0.28
42.93S	Г	# 1	UE D	Male	11-11 50 Back	14		2.57

### Individual Results - Standard: 1718TS Meet

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M

Time	F	F/P/S			Event	Place	Points	Improv
Lucas Hinestr	oza	(9)	N	И				
1:35.678		F	#	8	Male 9-9 100 Free	9		1.35
43.58S		F	#	12	Male 9-9 50 Fly	3	6	-2.10
1:49.518		F	#	16	Male 9-9 100 IM	8	1	2.28
1:48.86S		F	#	28	Male 9-9 100 Back	5	4	-0.77
3:49.40S		F	#	67	Male 9-9 200 IM	6	3	
41.99S		F	#	75	Male 9-9 50 Free	7	2	-1.91
1:48.93\$		F	#	77	Male 9-9 100 Fly	2	7	-5.35
51.71S		F	#	81	Male 9-9 50 Back	7	2	2.75
Cora Hunter	(10)	F						
1:36.478	(10)	F	#	31	Female 10-10 100 Free	30		5.38
55.198		F	#	36	Female 10-10 50 Fly	28		2.98
1:53.56S		F	#	41	Female 10-10 100 IM	18		5.89
1:02.50S		F	#	46	Female 10-10 50 Breast	33		5.13
2:04.77S		F	#	84	Female 10-10 100 Breast	23		-7.47
4:05.01S		F	#	89	Female 10-10 200 IM	22		11.19
42.29S		F	#	94	Female 10-10 50 Free	27		1.48
51.50S		F	# 1	104	Female 10-10 50 Back	36		3.80
Leah Hunter	(7)	F						
2:33.77S	(7)	r F	#	29	Female 7 & Under 100 Free	13		4.62
2:30.79\$		F	#	49	Female 7 & Under 100 Pree	13		-5.03
44.44S		F	#	54	Female 7 & Under 25 Breast	4	5	-5.05
1:02.54\$		F	#	92	Female 7 & Under 50 Free	9		-0.77
1:14.72S		F		102	Female 7 & Under 50 Back	20		10.52
29.65S		F	# :		Female 7 & Under 25 Back	14		1.61
	(0)		" -	107	Temale / & Onder 25 Back	11		1.01
Gibson Hurd	(9)	M	ш	0	M-1- 0.0.100 F	20		1.06
2:05.28\$			#	8	Male 9-9 100 Free	29		1.06
24.47S		F	#	20	Male 9-9 25 Back	2	7	-0.74
2:09.07S		F	#	28	Male 9-9 100 Back	14		-1.83
20.75S 56.41S		F	#	63	Male 9-9 25 Free	5	4	-7.12 5.27
59.30S		F F	#	75 81	Male 9-9 50 Free Male 9-9 50 Back	31		5.27
			#	01	Male 9-9 30 Back	18		1.63
Oaklee Janik	(9)	M						
2:10.59\$		F	#	8	Male 9-9 100 Free	31		-1.38
34.79S		F	#	20	Male 9-9 25 Back	10		1.38
2:35.14\$			#	28	Male 9-9 100 Back	26		5.26
24.54S			#	63	Male 9-9 25 Free	9		-7.55
57.09S		F	#	75	Male 9-9 50 Free	33		-1.63
1:15.618		F	#	81	Male 9-9 50 Back	30		8.39

### Individual Results - Standard: 1718TS Meet

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M

Time	F/	<b>'P</b> /	S		Evei	nt	Place	Points	Improv
Charlotte Job	nston	(8	3)	F					
36.28S			#	1	Female	8-8 25 Breast	15		1.68
1:56.838		F	#	5	Female	8-8 100 Free	11		0.35
1:16.00S		F	#	21	Female	8-8 50 Breast	26		-10.73
1:55.30S		F	#	25	Female	8-8 100 Back	5	4	-7.26
2:40.85\$		F	#	56	Female	8-8 100 Breast	20		
22.38S		F	#	60	Female	8-8 25 Free	8	1	-3.01
52.84S		F	#	72	Female	8-8 50 Free	24		1.11
54.38S		F	#	78	Female	8-8 50 Back	14		3.15
Camryn Jone	s (10	)	F						
2:00.41S		F	#	31	Female	10-10 100 Free	57		0.08
2:06.78\$		F	#	41	Female	10-10 100 IM	28		
1:03.32S		F	#	46	Female	10-10 50 Breast	35		-1.37
2:05.96S		F	#	51	Female	10-10 100 Back	47		0.41
2:09.00S		F	#	84	Female	10-10 100 Breast	28		-6.53
51.74S		F	#	94	Female	10-10 50 Free	47		-0.84
54.57S		F	#	104	Female	10-10 50 Back	44		-2.68
Peyton Jones	(7)	F							
2:10.13S		F	#	29	Female	7 & Under 100 Free	5	4	-7.50
1:11.06S		F	#	44	Female	7 & Under 50 Breast	2	7	-3.25
2:20.31S I	Q	F	#	49	Female	7 & Under 100 Back			
34.39S		F	#	54	Female	7 & Under 25 Breast	2	7	3.98
2:52.03S		F	#	82	Female	7 & Under 100 Breast	4	5	
51.65S		F	#	92	Female	7 & Under 50 Free	3	6	-5.39
58.81S		F	#	102	Female	7 & Under 50 Back	4	5	2.49
23.97S		F	#	107	Female	7 & Under 25 Back	1	9	-4.70
Rory Knox	(11)	M							
1:23.71S		F	#	32B	Male	11-11 100 Free	20		1.68
1:40.33S		F	#	42B	Male	11-11 100 IM	12		4.23
49.37S		F	#	47B	Male	11-11 50 Breast	14		2.23
1:32.60S		F	#	52B	Male	11-11 100 Back	12		-0.59
1:44.81S F	•	F	#	85B	Male	11-11 100 Breast	9		0.21
3:32.08S		F	#	90B	Male	11-11 200 IM	18		0.05
35.85S		F	#	95B	Male	11-11 50 Free	16		-0.34
44.04S I	Q	F	# :	105B	Male	11-11 50 Back			

### Individual Results - Standard: 1718TS Meet

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M **Coach: Todd Melton** 

Time	F/P/	S		Ever	nt	Place	Po	Points	Improv
Katherine Kohn	(7)	F							
2:06.73\$	F	#	29	Female	7 & Under 100 Free	4		5	1.05
1:11.678	F	#	44	Female	7 & Under 50 Breast	3		6	-0.24
2:11.958	F	#	49	Female	7 & Under 100 Back	5		4	10.66
32.37S	F	#	54	Female	7 & Under 25 Breast	1		9	-0.32
2:31.198	F	#	82	Female	7 & Under 100 Breast	2		7	
59.72S	F	#	92	Female	7 & Under 50 Free	6		3	7.72
1:00.92S	F	#	102	Female	7 & Under 50 Back	8		1	4.68
25.25S	F	#	107	Female	7 & Under 25 Back	2		7	-1.73
Jasper Kotowich	(10)		M						
1:26.15S	F	#	32A	Male	10-10 100 Free	12	•		-3.90
1:39.08S	F	#	42A	Male	10-10 100 IM	7		2	-5.20
54.91S	F	#	47A	Male	10-10 50 Breast	16			-1.34
1:42.26S	F	#	52A	Male	10-10 100 Back	14			3.58
1:56.27S	F	#	85A	Male	10-10 100 Breast	13	•		-4.51
3:43.63S	F	#	90A	Male	10-10 200 IM	13	•		
39.38S	F	#	95A	Male	10-10 50 Free	17			-1.62
45.43S	F	#	105A	Male	10-10 50 Back	12			-1.32
Ethan Lake (9	) M								
1:44.69S	F	#	8	Male	9-9 100 Free	17			-11.75
1:58.64S	F	#	16	Male	9-9 100 IM	13			-0.74
1:43.83\$	F	#	28	Male	9-9 100 Back	4		5	-16.89
2:22.45S	F	#	59	Male	9-9 100 Breast	15			-7.28
23.86S	F	#	71	Male	9-9 25 Fly	2		7	
49.34S	F	#	75	Male	9-9 50 Free	22			-2.70
50.51S	F	#	81	Male	9-9 50 Back	6		3	-2.52
Sadie Leonard	(10)	F							
1:42.86S	F	#	31	Female	10-10 100 Free	39			-2.28
58.22S	F	#	36	Female	10-10 50 Fly	32			-1.99
2:06.61S	F	#	41	Female	10-10 100 IM	27			3.53
2:01.23S	F	#	51	Female	10-10 100 Back	44			5.81
2:13.98S	F	#	84	Female	10-10 100 Breast	32			-0.10
44.95S	F	#	94	Female	10-10 50 Free	34			-5.51
53.99S	F	#	104	Female	10-10 50 Back	43			3.20

### Individual Meet Results - Standard: 1718TS

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M

Time	F/P/S		Event	Place	Points	Improv
Clayton Linden	back (9)	M				
1:27.77\$	F #	8	Male 9-9 100 Free	3	6	-3.70
42.68S	F #	12	Male 9-9 50 Fly	2	7	-1.28
1:42.16S	F #	16	Male 9-9 100 IM	4	5	3.57
1:37.73\$	F #	28	Male 9-9 100 Back	3	6	-0.41
1:56.78S	F #	59	Male 9-9 100 Breast	3	6	1.13
3:35.18S	F #	67	Male 9-9 200 IM	4	5	0.58
40.22S	F #	75	Male 9-9 50 Free	4	5	0.35
1:46.198	F #	77	Male 9-9 100 Fly	1	9	
Mychael Linder	ıback (9)	M	·			
45.16S	F #	12	Male 9-9 50 Fly	4	5	0.95
1:37.33S	F #	16	Male 9-9 100 IM	3	6	-1.86
48.10S	F #	24	Male 9-9 50 Breast	2	7	-0.74
1:33.91S	F #	28	Male 9-9 100 Back	2	7	-3.66
1:53.41S	F #	59	Male 9-9 100 Breast	2	7	7.05
3:33.79\$	F #	67	Male 9-9 200 IM	2	7	2.87
40.01S	F #	75	Male 9-9 50 Free	3	6	1.10
43.48S	F #	81	Male 9-9 50 Back	2	7	-0.54
Lauren Livingst	tone (10)	F				
1:59.07S	F #	31	Female 10-10 100 Free	53		-15.34
DQ	F #	41	Female 10-10 100 IM			
1:05.40S	F #	46	Female 10-10 50 Breast	39		-1.68
2:12.00S	F #	51	Female 10-10 100 Back	52		-6.47
2:23.12S	F #	84	Female 10-10 100 Breast	38		-6.79
53.77S	F #	94	Female 10-10 50 Free	51		-7.77
59.93S	F #1	104	Female 10-10 50 Back	52		-6.67
Brodie Meadus	(7) M					
2:23.90S	F #	30	Male 7 & Under 100 Free	11		-1.71
2:20.84\$	F #	50	Male 7 & Under 100 Back	7	2	
29.23S	F #	88	Male 7 & Under 25 Free	9		-1.33
1:10.05S	F #	93	Male 7 & Under 50 Free	12		10.35
1:08.89S	F #1	103	Male 7 & Under 50 Back	9		3.46
29.83\$	F #1	108	Male 7 & Under 25 Back	3	6	1.98
Madison Meikle	e (8) F					
41.46S DQ	F #	1	Female 8-8 25 Breast			
2:22.74\$	F #	5	Female 8-8 100 Free	32		15.05
27.07S	F #	17	Female 8-8 25 Back	7	2	1.06
2:13.78\$	F #	25	Female 8-8 100 Back	18		-0.60
1:00.44S	F #	72	Female 8-8 50 Free	39		2.19
56.598	F #	78	Female 8-8 50 Back	20		-3.17

### Individual Results - Standard: 1718TS Meet

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M

Time	F/P/:	S	Event	Place	Points	Improv
Jaden Melton	(11) I	М				
1:16.84S P	F	# 32B	Male 11-11 100 Free	11		1.14
41.29S	F	# 37B	Male 11-11 50 Fly	12		2.14
45.01S P	F	# 47B	Male 11-11 50 Breast	7	2	-0.18
1:31.05S DQ	F	# 52B	Male 11-11 100 Back			
1:43.05S P	F	# 85B	Male 11-11 100 Breast	6	3	1.94
3:18.61S DQ	F	# 90B	Male 11-11 200 IM			
34.87S P	F	# 95B	Male 11-11 50 Free	10		1.16
1:37.21S	F	# 100B	Male 11-11 100 Fly	3	6	-6.38
Jude Melton	(8) M					
1:57.44\$	F	# 6	Male 8-8 100 Free	9		-9.84
25.53S	F	# 18	Male 8-8 25 Back	5	4	-2.04
2:11.26S DQ		# 26	Male 8-8 100 Back			
24.42S		# 61	Male 8-8 25 Free	6	3	-4.95
57.48S		# 73	Male 8-8 50 Free	13		-0.22
59.29S	F		Male 8-8 50 Back	11		-2.10
			That of the Buch			2.10
Bryiar Murphy			Б. 1. 0.0.100 Б	11		0.02
1:38.39\$	F		Female 9-9 100 Free	11		0.03
1:56.478	F	# 15	Female 9-9 100 IM	8	1	7.06
55.71S	F	# 23	Female 9-9 50 Breast	9		2.52
1:59.94S	F	# 27	Female 9-9 100 Back	18		1.71
1:57.46S		# 58	Female 9-9 100 Breast	8	1	-3.03
20.81\$	F	# 70	Female 9-9 25 Fly	1	9	-5.79
46.19S		# 74	Female 9-9 50 Free	22		1.81
57.04S	F	# 80	Female 9-9 50 Back	30		2.99
<b>Keton Murphy</b>	(11)	M				
1:12.46S P	F		Male 11-11 100 Free	6	3	-0.16
36.65S P	F		Male 11-11 50 Fly	5	4	1.30
1:23.73S	F	# 42B	Male 11-11 100 IM	1	9	-0.04
44.11S P	F	# 47B	Male 11-11 50 Breast	6	3	1.61
1:32.01S P	F	# 85B	Male 11-11 100 Breast	1	9	-4.18
2:58.64S P	F	# 90B	Male 11-11 200 IM	5	4	-1.40
33.95S P	F	# 95B	Male 11-11 50 Free	7	2	1.34
1:29.27S P	F	# 100B	Male 11-11 100 Fly	2	7	4.12
<b>Landon Palmer</b>	(8)	M				
2:17.52S	F		Male 8-8 100 Free	16		-6.68
25.24S	F	# 18	Male 8-8 25 Back	4	5	-2.21
2:21.49\$	F	# 26	Male 8-8 100 Back	14		-0.13
26.06S	F	# 61	Male 8-8 25 Free	12		-0.96
1:01.17S	F	# 73	Male 8-8 50 Free	17		-1.48

### Individual Results - Standard: 1718TS Meet

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M

Time	F	F/P/	S		Eve	nt	Place	Points	Improv
Liam Pillay	(9)	M							
1:58.07S			#	8	Male	9-9 100 Free	26		5.22
2:11.01S		F	#	16	Male	9-9 100 IM	18		1.30
2:08.75\$		F	#	28	Male	9-9 100 Back	13		11.85
2:25.70S		F	#	59	Male	9-9 100 Breast	16		5.79
26.84S		F	#	71	Male	9-9 25 Fly	4	5	-10.47
53.11S		F	#	75	Male	9-9 50 Free	29		3.63
59.43S		F	#	81	Male	9-9 50 Back	19		7.07
Seth Pillay	(11)	M							
1:37.22S	()		#	32B	Male	11-11 100 Free	31		3.79
55.24S						11-11 50 Fly	25		0.03
1:51.52S	DQ					11-11 100 IM			
53.68S	·	F				11-11 50 Breast	23		0.69
1:54.68S		F				11-11 100 Breast	21		-0.52
3:43.96S						11-11 200 IM	22		2.51
44.35S		F				11-11 50 Free	36		1.32
50.47S		F	# 10	)5B		11-11 50 Back	31		-0.29
Grace Riley	(8)	F							
33.46S	(0)	F	#	1	Female	8-8 25 Breast	10		-2.07
2:50.148		F	#	5	Female		39		14.60
1:14.61S		F		21	Female		24		-2.51
2:34.21S		F		25	Female		30		7.15
2:44.41S				56	Female		22		
34.63S		F		60	Female		27		-7.15
1:18.578				72	Female		51		3.26
1:10.70S		F		78	Female		45		4.22
Cale Rockle	ey (10	)) N	Л						
1:44.86S	, ( <u> </u>	-		32A	Male	10-10 100 Free	28		-0.71
2:05.498		F				10-10 100 IM	20		0.17
1:05.07S		F		47A	Male	10-10 50 Breast	33		1.23
2:03.71S		F				10-10 100 Back	23		2.23
2:18.20S		F				10-10 100 Breast	27		-8.16
46.28S						10-10 50 Free	33		-0.30
56.25S						10-10 50 Back	29		1.39
Kierra Siko	ra (1	0)	F						
1:57.96S	1a (1	-		31	Female	10-10 100 Free	51		-4.40
2:11.27S		F		41	Female		31		
1:04.43\$		F		46	Female		37		-0.61
2:13.39\$				51	Female		53		1.80
2:14.25S				84	Female		33		-11.71
56.43S				94	Female		55		1.30
57.40S			# 10		Female		48		-0.79

### Individual Results - Standard: 1718TS Meet

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M

Time	F/	<b>'P</b> /	S		Ever	nt	Place	Points	Improv
Aidan Spence	(11)	)	M						
1:29.54S		F	#	32B	Male	11-11 100 Free	28		-9.16
1:49.69\$		F	#	42B	Male	11-11 100 IM	16		-7.59
56.70S DO	Q	F	#	47B	Male	11-11 50 Breast			
1:49.648		F	#	52B	Male	11-11 100 Back	29		5.69
2:02.44S DO	Q	F	#	85B	Male	11-11 100 Breast			
4:01.97S		F	#	90B	Male	11-11 200 IM	25		
44.37S		F	#	95B	Male	11-11 50 Free	37		-0.84
48.66S		F	# :	105B	Male	11-11 50 Back	27		-1.45
Luc Tetrault	(11)	M	1						
1:32.22S	,		#	32B	Male	11-11 100 Free	29		2.39
1:34.98S		F	#			11-11 100 IM	9		-2.51
48.90S		F	#			11-11 50 Breast	13		1.98
1:43.26S		F	#	52B		11-11 100 Back	25		0.57
1:44.46S P		F	#	85B		11-11 100 Breast	8	1	1.37
3:33.01S		F	#	90B		11-11 200 IM	20		
40.55S		F	#	95B		11-11 50 Free	31		-0.10
46.60S		F	# :	105B		11-11 50 Back	24		-0.38
Hailey Thiele	(8)	F							
1:29.87\$	(U)	F	#	5	Female	8-8 100 Free	1	9	-3.22
48.42S		F	#	9	Female	8-8 50 Fly	1	9	3.89
1:43.55S		F	#	13	Female	8-8 100 IM	2	7	0.53
56.47S		F	#	21	Female	8-8 50 Breast	3	6	0.10
2:04.27\$		F	#	56	Female	8-8 100 Breast	3	6	4.46
3:44.31S		F	#	64	Female	8-8 200 IM	1	9	
42.46S		F	#	72	Female	8-8 50 Free	3	6	1.27
50.04S		F	#	78	Female	8-8 50 Back	5	4	2.98
Ava Watters	(8)	F							
NS	(o)	F	#	60	Female	8-8 25 Free			
NS		F	#	72	Female	8-8 50 Free			
NS			#	78	Female	8-8 50 Back			
Hudsyn Watt	(8)	F							
35.39S	(o)		#	1	Female	8-8 25 Breast	13		-3.60
1:57.95S			#	5	Female	8-8 100 Free	14		-4.82
1:17.03S				21	Female	8-8 50 Breast	27		-7.30
2:02.65S			#	25	Female	8-8 100 Back	10		-7.30 -9.12
2:42.69S			#	56	Female	8-8 100 Breast	21		- 7.12
21.34S			#	60	Female	8-8 25 Free	4	5	-4.10
54.04S		F	#	72	Female	8-8 50 Free	26	J 	0.20
54.043 59.66S			#			8-8 50 Back			
37.003		Г	Ħ	78	Female	o-o ou dack	29		0.77

### Individual Results - Standard: 1718TS Meet

UCSC Dino Cup 2018 14-Apr-18 to 15-Apr-18 SC Meters Location: University of Calgary Aquatic Centre FOOTHILLS Stingrays Swim Club [FSSC] Coach: Todd M **Coach: Todd Melton** 

Time	<b>F/</b>	<b>P</b> /	S		Event	Place	Points	Improv
<b>Paisley West</b>	(10)	F	·					
1:36.26\$		F	#	31	Female 10-10 100 Free	29		-1.37
1:03.75\$		F	#	36	Female 10-10 50 Fly	37		-3.01
2:03.23S DQ	!	F	#	41	Female 10-10 100 IM			
59.16S		F	#	46	Female 10-10 50 Breast	25		4.00
2:09.18S		F	#	84	Female 10-10 100 Breast	29		4.53
40.94S		F	#	94	Female 10-10 50 Free	24		-2.94
55.16S		F	# 3	104	Female 10-10 50 Back	45		2.54
<b>Elleigh Wise</b>	(7)	F						
2:26.10S		F	#	29	Female 7 & Under 100 Free	10		-2.36
2:11.12S		F	#	49	Female 7 & Under 100 Back	4	5	-9.62
25.13S		F	#	87	Female 7 & Under 25 Free	6	3	-7.09
1:08.46\$		F	#	92	Female 7 & Under 50 Free	14		-1.79
1:03.19S		F	# 1	102	Female 7 & Under 50 Back	9		0.65
27.86S		F	# :	107	Female 7 & Under 25 Back	8	1	-1.15